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17. (1) Po(Vp +V¢) = (Po + pghy)Ve
18 V=250 cm®
(2) Po(Vp + Ve = V) = (Py + pghy) (Ve = V2)



V, =500 cm’

P, P,
o 7=z
AT’ = 250K

F () B2, F (2) NE3D, F (3) NESH

18. (1) (my +m)gtan37° = (m; + m)

Va4

Ry +Lsin37°
15, = 6m/s

W%(ml +m) vi+(m; + m)glhe + Ry (1 — cos37%)]

1§ W=58310]
(2) v, = vgcos60°
vg =12m/s
BEIESFIE mvg =(m, + m) vy
o[Gvp = 10m/s
ARREEE:

%(mz +m) vj— %(mz +m) vh°= (m, + m)gL,sin60°+ (m, + m)gR, (1 — cos60°)

15 vp =30m/s
v3
F—mg= mR—2
f#18: F = 2500N
(3) —fvAt =(my +m) Av
1008 =60 (vp — vg)
oJfJvg = 25m/s

BEATERE 2 R TERER, ERSREE AV = /gR;

BREELRE vy ={59R;=20m/s, FAMTRIREK

BRARBEFGR
—fvAt =(my + m) Av
—1008' =(m, +m) (0-vp)
S’ =18m
(4) tBFEIRS Svg = 25m/s
fSy =(my+m) (vp —vg) , Sy =6m

BFER OSSR = 4/I0m/s

£Sz =(mp+m) (vp—vg), S, =12-2ZVI0 (m)
% (1) ME25, B (2) ME3S, B (3) A3, B (4) ME3H
19. (1) mg = BylL + fMG.urceiirirririiseircnrerenreeneinncen (153



HETE: v, = % (14
(2) % 2MG = Bol * 2Loereeeesseceeeeeessseceesesereeennennns (1 53)
_ Bo(2L)v,
I'= 3R
s 3 R
At a8y, = % (14)
U =21B,(2L)v, = 2 14y
=3B, T —

(3) XS4k#E AB ;. 2mgsin30° — 2ByIL = 2mayg
SR CD 4347: mg — 3mg — BolL = 2macy

A ERRTBap = 2acp LR
EiER R Zlvas = 2vep

5 CD#, Mtkmg —mg = BIL

| = SBolvep
T 3R
3mgR 3mgR
/. — —
SRS vep = 0B Vap = SBILZ

5B,L

(4) X CD F BEHE(Gmg — By 2L L)AL = 2mAvey

3mgRt  9m?gR?

Xcp = X Vep At=—3= —
e =X vep 10B21?  25B2I?

. 1 1

Q = 2mg(2x¢p)sin30° + mgxcp — umgxcp —Evagn —EvajB
0= 15m?g?Rt _ 9m?R’g  9m3g’R*
20B31? 10B2L? 20B¢L*

% (1) NE3R, 5§ (2) MA3D, F (3) NE3N, F (4) M2

—mv
20. (1) R="22

. _ gBR
Brvo="+

(2) Reosf; = 0.8R, 126, = 37°
R (1-cosf,) =0.2R, 186, =37°

MEB BB R T & BT B = =
(3) WFE bR PRIEIER
L=22coso
= q—BCDS

Vo
v =
cos6@
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F{L =220
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AN LA PN FERD PR A RENERHES, BX2R
EFEFRATEREIAE PQ Lk, RIEBARREEATHIEANNIFRELL PQIR
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R PQ K EZE /> Lmin=1.6R . Q
(4) WHNFEDBGPREN . RN
=19% 22 _ g8R x RS 0
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21.6Rm “v, N M
X x
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MEGNMNHBRDLIN MR, tHREA I 1P 0
MEQANHOO I ME . = PQBEIPQH, BT o N
KT HBS . RITIARAI KA 0. 4R

% (1) hE25, F (2) NE3, 5§ (3) NE3ID, B (4) AR




